P = A ) SR, b, 34 CD1875CZ
= 8o
@ 20W E 95 E A K L%

1. BbA 5=
CDI1875CZ j&—HLHifsaiE 20W mfRECESIIABOC I, . X RN, Dk, 4b
Rl iR, B, 3 SRRy S hhe.
TR TR Bt A T SRR, iz e m. DI, Sy o
S HURFRIE S, i FRE R, PR R R S AR R AERE, T RS R S A
HIEHL. RO ES P R R Hos i R
® it ThZnik 30w BLE

@ JTIRHEZSAIIA 90dB (HLAUE)
@ LHEL: f=1kHz, P,=20W I, THD=0.015% CH71{)
@ IUF G Af,=70 kHz
@ A H T R R
@ iIHfRY
® i L,=4A C(HAME)
O [ EHJFHEIEHETE: V=16~60V
® N EHH R A
@ 94dB LU
® EPAHEs: FZIPS
2. ThEEHER 55| Bk R
2.1 TheEHER
(5)
_|_
D
3

THERUETFRODBERAF
Hoht: VLA THTTENRK 14 5 Hig: (0510) 5807123-5542 fEE: (0510) 5803016

#1145



A {5 URG L 3% CD1875CZ
2.2 5|RHiRAR
5| P ) fe 51 P ) fe
1 IN LTI 4 OUT i
2 NF 1t 5 Vee JIBGER/
3 GND / Vi Mo/ AR
3. B4
3.1 tRERESH
BRAES A INE, Tam=25C
Z %4 W 5 e H A
FHLJJ5 R Vee 60 \
LPNGENS Vi, Vee \%
FPH (D 0 jc 3 CT/W
B () 0, 73 C/W
ke P, 41.6 W
TAEPRESR T -20~70 C
WA Ty, -65~150 C

T AR 25 CRITEOL T, BUEMEHIAEE 1°C/W i, I TARMRR R

55°CIN, T A A GRS AR EL, A8 4 Q G BRSO AT Pl o

3.2 H4FE
AR IE, T,w=25C, V=225V, R, =8Q, A,=26dB, f=1kHz, P,=20W
. . S EAKIE ] .
5 IR Vo= a3 o
Z 4 F ;5 oAk & R Y NEER S BT
YR L Toco V=0 70 100 mA
AP Py THD = 1% 25 W
0.015
f=20kHz 005 | 04
L THD R=40 0.022 %
R, =4Q, f=20kHz 007 | 06
e Vi -15 +1 15 mV
BN FE Iy 2 | +02] 2 uA
NNV Iy, 05 0 0.5 uA
25 ML BW f=20kHz 5.5 MHz
TFIRH I35 Ayo DC 90 dB
Veer 1kHz, 1V 52 95
Lrk PSRR cc dB
BRI Ve 1kHz, 1V 52 83
PPN Z ST SR 70kHz, BW 8 V/uS
E-ij(iﬁth EE?)ﬁ L, Vou= Vee-10V 3 4 A
ALt
EILTTIN
SR Vno = Q,
e R¢=600Q, CCIR 3 uv

#
[\
=
F
-




A XU H % CD1875CZ
4. $iEmh sk
Icc — Vee Po —= Vce
100
RL=8 Q
35 L
80 THD=1%
. 7 30
E / 5
S 60 % 25
— / o 90
m 10 = 15
= £ 10
20
5 -
0 0
0 5 10 15 20 25 30 0 5 10 15 20 25 30
YEHE  Vee (V) HJFHE  Vee(£V)
Pp —— Tamb Pp — Po
45 ‘ ‘ 22 RL=80
' T AR | fo=lkHz
10 10
35 35
|, 1/ R _
£ 30 J & 30 Vee=+30V
22 S £ 25
y PO 2 C/ W - el
w20 - < 20 ]
SIS 8L I Vee=£25V
1o \ 10 / —P‘_i\_ Vee=%20V
5 1 Qu\\\\ 5 1 Vee=%15
o | 10°C/ iR % 0 ‘
0 20 40 60 80 100 120 140 160 0 5 10 15 20 25 30
IR JE Tamb (°C) I Po (W)
Pp —- Po Tout —— Vout (%4 TAEX)
50 6
45
_ / Vee=+30V
40 4 i
35 /
g — 1" . /
= / Veo=+25V =9 p
£ 25 — ~ L~
2 90 / A - Vee=+£20V 5 /,/
ﬁ / — —
15 ] -0
/ L — B
107 H
- " | Veex15v RL=4 O = -
, | fo=1kHz g2 %
0 5 10 15 20 25 30 /
HthIhE Po (W) )
%_/
-25-20-15-10 -5 0 5 10 15 20 25
R Vout (V)
#0305



A {5 URG L 3% CD1875CZ
PSRR — f THD — f
100 0.1 Voo 4950
90 = 0.09 ¢ T
ERE | N Po=10W
80 0.08
§§ 70 5o 0.07
é':; 60 UL = £ 0.06 \
7] =
~ 50 m 0.05 \
£ 0 K 0. 04— o //
= N = . N RL= ]
Kogop M2 55 0.03 ‘
& Rs=0 0 02\‘\\_
20 RL=4 Q A RL=8Q
Lol 0.01 ‘
0 1Vrms 0
20 50 5k
20 50 100200 500 1k 2k 5k 10k 20k 1oozgngo??é?)2k 10k 20k
Wi £ (Hz) 7 ?
THD —— Po Ibias — Vcc
1 —— 300 ‘
Vs +25V [~ Ta=70C
250" Ta=25C \\ \
X = 200
= K ]
E RL=4 O é‘ Ta=0C
w 0.1 S o 150
& B
% T j:['g 100
= / i 2
RL=8 Q ~\\\\\ g
0.01 0
0.1 1.0 10 100 0 5 10 15 20 25 30

IR Po (W)

5. N A% SR ARA
5.1 OCL AR %%

K Vee (V)

]
.

100uF

mae

22uF

Vout

f_,;\

0. 22uF

=

4~8Q



A {5 URG L 3% CDI1875CZ

52 OTL ARk

Vee
o
-1 L.
22k Q 22k 0 s 2
T I T
g (5)
Vin
° | fl\ +\ 2200uF Vout
Bk (D
o 1uF 5 _ G/ |
I\
)
< 4~8
L o _
K52

5.3 [FAiftAA
(1) HEEPRIAR NS, N R/ IME T S A5 S B2 vk, I 55 L R o
(2) Hir b M IR 4 2 5548 IC 51 HES
(3) HHE Y HH 75 B A KA
6. SMER<T
_4.8max.

1.30%

6.3 |

1210.2

175

23.4
25.0

T
=TT
e
T

——f———T—F
raNs]

Pl

u |10 285 *me
|

11




